
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

3149, 1 × 0.0001 = ________ 7058, 1 × 0.0001 = ________

7763, 1 × 0.01 = ________ 7229, 5 × 0.001 = ________

7222, 9 × 0.0001 = ________ 4954, 8 × 0.1 = ________

9553, 9 × 0.01 = ________ 5071, 5 × 0.1 = ________

5309, 6 × 0.01 = ________ 7397, 5 × 0.001 = ________

1302, 8 × 0.1 = ________ 3961, 5 × 0.1 = ________

9383, 2 × 0.0001 = ________ 7053, 5 × 0.0001 = ________

1869, 9 × 0.1 = ________ 2024, 4 × 0.1 = ________

2894, 3 × 0.1 = ________ 9903, 3 × 0.001 = ________

1829, 7 × 0.1 = ________ 9813, 1 × 0.01 = ________
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

3149, 1 × 0.0001 = 0.31491 7058, 1 × 0.0001 = 0.70581

7763, 1 × 0.01 = 77.631 7229, 5 × 0.001 = 7.2295

7222, 9 × 0.0001 = 0.72229 4954, 8 × 0.1 = 495.48

9553, 9 × 0.01 = 95.539 5071, 5 × 0.1 = 507.15

5309, 6 × 0.01 = 53.096 7397, 5 × 0.001 = 7.3975

1302, 8 × 0.1 = 130.28 3961, 5 × 0.1 = 396.15

9383, 2 × 0.0001 = 0.93832 7053, 5 × 0.0001 = 0.70535

1869, 9 × 0.1 = 186.99 2024, 4 × 0.1 = 202.44

2894, 3 × 0.1 = 289.43 9903, 3 × 0.001 = 9.9033

1829, 7 × 0.1 = 182.97 9813, 1 × 0.01 = 98.131
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